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Ficure 4.A.1

THE BUDGET LINE

The budget line shows the
combinations of current
and future consumption, ©
and cf, available to
Prudence. The slope of the
budget line is ~(1 + r)=
-1.10. The horizontal
intercept is at ¢ = PVIR =
30 000. You can verify that
the combinations of
current and future con-
sumption at each of the
lettered points {as well as
any point on the budget
line} satisfy ¢ + /(1 +1) =
PVLR = 30 000.
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FicGurr 4.A.2

INDIFFERENCE CURVES

All points on an indif-
ference curve represent
consumption combinations
that yield the same level of
utility. Indifference curves
slope downward because
a consumer can be com-
pensated for a reduction in
Current consumption by an
appropriate increase in
future consumption. All
points on /C? represent
consumption combinations
that are preferred to ali
consumption combinations
represented by points on
ICT. Indifference curves are
bowed toward the origin to
reflect the consumption-

smoothing motive. Pru-
dence prefers the con-
sumption combination at

point W, which is an
average of the combina-
tions at point X and 2,
because W represents a
smoother pattern of con-
sumption. Thus the indif-
ference curve containing
W (IC2) lies above and to
the right of the indifference
Curve containing X, ¥, and
Z (. '
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at pomt Wlth her budget constramt Prudence cérmet do any beLLer thanD .
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Ficure 4.A.3

THE OPTIMAL
CONSUMPTION
COMBINATION

The optimal {highest utility
combination of current and
future consumption is
represented by the point of
tangency between the
budget fine and an indif-
ference curve {point D). All
other points on the budget
iine, such as B and E, lie
on indifference curves
below and to the left of
indifference curve IC* and
thus yield lower utility than
the consumption combina-
tion at D, which lies on

IC*. Prudence would prefer .

the consumption combina-
tion at point T to the one
at D, but as T lies above
the budget line she cannot
afford the consumption
combination that T repre-
sents.

'.'Ll is. Prudence .ongmal' budget line, and point D, where ¢ = 15 600 and: ¢/ = —" '
. .16 500 represe '
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Ficurt 4.A.4

AN INCREASE IN
INCOME OR WEALTH

An increase in current
income, future income,
and/or initial wealth that
raises Prudence’s PVIR by
4000 causes the budget
line to make a parallel shift
to the right by 4000, from
Bil to BI2. If Prudence’s
original consumption plan
was to consume at point £,
she could maove to point H
by spending all the in-
crease on future consump-
tion and none on current
consumption; or she could
move to point K by spend-
ing all the increase on
current consumption and
none on future consump-
tion. However, if Prudence
has a consumption-
smoothing motive she will
move to point §, which has
both higher current con-
surnption and higher future
consumption than D. Point
}is optimal because it lies
where the new budget line
817 is tangent to an in-
difference curve, fC**,
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shift of th budget ]me by the amount
e PVLR :ECOHOHIIStS use: the Term: mcome eﬁect to descnbe t
ny hange that causes a parallel shift; of the budget line. :

model a temporary increage:in. incoine: represents a risein. eurrent‘_{ :
_ W1th' '__ture income, yf held coristant. A permanent incréase inircome .
nt meome y_, ana! future mcome yf Therefore a permanent S




